
M.Muthu Selvam M.Sc.,M.Com.,M.Ed.,M.Phil. PG.Asst. MLWA.Hr.Sec.School. Maduai-1.Cell:9842104826 Page 1 
 

miuahz;Lj; Njh;T - 2014 
1) nghWg;G 
2) KjypypUe;J 
3) ,Ug;Gepiyf;Fwpg;G 
4) &15000 
5) kWkjpg;gPl;L Kiw 
6) nkhj;j ruf;fpUg;G tpw;gid tpfpjk; 
7) rjtPjkhf 
8) njhlf;f 
9) Gydhfh 
10) fiyg;G 
11) el;lk; 
12) yhgk; 
13) 10ehl;;fs; 
14) xU khjk; 
15) tuhf;fld; 
16) m)&6000 
17) M)&110000 
18) M)nkhj;j fldhspfs; fzf;F 
19) m)&210000 
20) m)el;lk; 
21) m)Mz;LNjhWk; FiwAk; 
22) ,)KjYld; 
23) m)5 klq;F 
24) %d;whFk; 
25) 25% 
26) M)nuhf;fr; nrYj;Jjy;fs; 
27) ,)Kf kjpg;G> Kidkk; kw;Wk; js;Sgbapy;     
   ntspaplyhk; 
28) M)fl;lhakhdJ 
29) ,)$l;lhsp Nrh;f;fg;gLifapy; 
30) m) &200000 
 
31. ,Wjpf; fzf;Ffs; jahhpf;Fk; NghJ tpLgl;l 
,dq;fis fzf;fpy; nfhz;L tu nra;ag;gLk; gjpT 
rhpf;fl;Lg; gjpthFk;. ,J ,U ,lq;fspy; Njhd;Wk;  
32. ,Ug;gha;T jahhpf;f KbahJ. Jy;ypa yhgk; 
fz;lwpa KbahJ. cz;ikahd epjpepiyia mwpa 
KbahJ. thptpjpf;Fk;mjpfhhpfs; Vw;gjpy;iy.(VNjDk;2) 
33. xU nrhj;jpd; gadspg;Gf; fhyk; Kbe;j gpwF 
mij tpw;why; fpilf;f $ba njhifNa vwpkjpg;G. 
,jw;F ,Wjpkjpg;G vd;Wk; ngah;. 
34. Xh; ,dk; kw;nwhU ,dj;NjhL nfhz;bUf;f 
Ntz;ba fzpjtpay; cwNt tpfpjk; MFk;. ,J 
epjpepiy Ma;tpy; Kf;fpa fUtpahFk;. 
35. mioj;j njhifiatpl kpFjpahf nrYj;jg;gLtJ 
miog;G Kd;gzkhFk;. ,jw;F 6% tl;b ngw 
chpikAz;L. 
36. ruhrhp yhgj;jpw;Fk; rhjhuz yhgj;jpw;FkpilNa 
cs;s NtWghNl cah; yhgk; MFk;. ,J ew;ngah; 
fzf;fpl cjTfpwJ. 
37. nuhf;f tpw;gid> thbf;ifahsh;fsplkpUe;J 
t#ypj;jJ> tl;b ngw;wJ> gq;fhjhak; ngw;wJ> 
nrhj;Jf;fis tpw;W ngw;wJ 
38. ,WjpKjy;  6000       
   (+)vLg;G  1200 
                   -------- 
   7200 
 (-)$Ljy; Kjy;  2000 
   ------- 
   5200 
 (-)njhlf;f Kjy; 2700 
   ----- 
   ,yhgk;   2500 
   ------- 
 
 
 

39. $bAs;s fopT f/F g.  4000 
 
  fopT f/F   4000 
40. Nja;khdk; =nrhj;jpd; mlf;ftpiy-,Wjp kjpg;G 
       gadspg;Gf;fhyk; 
      = 250000-50000 
       5 
       =  200000   =  &40000 
               5 
   Nja;khd tpfpjk; =  Nja;khdk;X 100 
                mlf;ftpiy  
            =  40000 X 100 = 16% 
        250000 
41. elg;G tpfpjk; =  elg;G nrhj;Jf;fs;  
                elg;G nghWg;Gfs; 
elg;Gnrhj;Jfs;  =  ifnuhf;fk;+ ruf;fpUg;G+  
                fldhspfs; 
              = 200000+120000+80000 
              =   &.400000 
elg;G nghWg;Gfs;  = nr.kh.rP.+gw;gyfldPe;Njhh; 
              = 50000+150000 
                                    =&.200000 
elg;G tpfpjk;   = 400000 
                                      200000 
                                   = 2:1 
                                             a                  b 
42.gioa tpfpjk; :       3                  2 
                                             5                  5 
A apd; jpahfk; = 1      x      1             =    1 
                                   5              2                  10 
B apd; jpahfk; = 1      x      1             =    1 
                                   5              2                  10 
Gjpa tpfpjk; =gioa yhg tpfpjk; - jpahfk; 
A   =   3    _     1   =     6-1  =   5 
           5    10      10   10 
B   =   2    _   1   =     4-1  =  3 
           5   10      10   10 
                a: b: c 
Gjpa tpfpjk;  =   5: 3: 2 
43.ruhrhp yhgk;         & 
       2001 ,yhgk;   20000 
       2002 ,yhgk;   30000 
       2003 ,yhgk;   16000 
       2004 el;lk;     6000 
                    60000 
ruhrhp yhgk; = 4000 = &.15000 
             4 
ew;ngaH = ruhrhp yhgk; x nfhs;Kjy; Mz;L 
       = 15000x2 
                  = &.30000 
                     gw;W(&)    tuT(&) 
44.nuhf;f f/F  gw;W     5200000 
    (40000 x10) 
     gq;F Kjy; f/F             400000 
    (40000 x10)        
     gq;F Kidkk;  f/F          120000 
    (40000x3) 
(gq;Ffis Kidkj;jpy; ntspapl;l gjpT) 
45.m 
ehs; tptuk; Ng 

g 
v 

gw;W 
 & 

tuT 
 & 

1 thuf;fld; f/F gw;W 
    fldhspfs; f/F  

 10000  
10000 
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2 ,yhg el;l f/F gw;W 
    thuf;fld; f/F 

 10000  
10000 

3 ,yhg el;l f/F gw;W 
 Iaf;fld; xJf;F f/F 

 10000  
10000 

g.      ,yhg el;lf; fzf;F             t. 
thuf;fld;                  10000 
Iaf;fld; xJf;F            10000 
fldhsp kPJ js;Sgb xJf;F   1900 
         ,Ug;G epiyf; Fwpg;G 
nghWg;Gfs;      nrhj;Jfs;  & 
              gw;gy fldhspfs;    210000              
              (-)thuf;fld;          10000  
                                200000 
(-)Iaf;fld; xJf;F 5%                                    10000 
                                 190000 
(-)js;Sgb xJf;F 1%                                        1900 
                                 188100  
45.M)           epiyawpf;if      31-3-2009 
nghWg;Gfs;          & nrhj;Jfs;           & 
Gw;gy fldPe;NjhH   60000 
nr.kh.rP           15000 
nfhLglh nryT     8000 
   ,Wjp Kjy;   646000 
 
 
 

729000 

if nuhf;fk;        4000 
tq;fp nuhf;fk;     30000 
miwfyd;        50000 
nghwptif       300000 
gw;gyfldhspfs;  200000 
ruf;fpUg;G        120000 
ng.kh.rP          25000 
               729000 

             ,yhg el;l mwpf;if 
        tptuk;    & 
,WjpKjy; 
$l;Lf: vLg;G 
 
fopf;f:  $Ljy; Kjy;  
 
fopf;f: njhlf;f Kjy; 
          ,yhgk; 

  646000 
   20000 
  666000 
   50000 
  616000 
  400000 
  216000 

46.Nja;khdk; Vw;glf; fhuzq;fs; ahit ? 
   (1)Nja;T: xU nrhj;ij njhlHe;J gad;gLj;jpdhy; 
cuha;T Vw;gl;L Nja;khdk; Vw;gLk;. 
   (2)cgNahfpf;fglhik: njhlHe;J nrhj;Jfisg; 
gad;glj;jhkNy itj;jpUe;jhYk; Nja;khdk; Vw;gLk; 
  (3)guhkhpg;gpd;ik: nrhj;ij rhptu guhkhpf;ftpy;iy 
vd;whYk; Nja;khdk; Vw;gLk;. 
   (4)ntWikahjy;: Ruq;fq;fs; vz;nza;f; fpzWfs; 
Nghd;wtw;wpy; njhlHe;J fdpk tsq;fs; vLf;fg;gl;lhy; 
ntWikahjy; Vw;gl;L Nja;khdk; Vw;gLk;. 
  (5)fhyg;Nghf;F: rpy nrhj;Jfs; fhw;Wkio Nghd;w 
,aw;if fhuzq;fshy; nraypye;J Nja;khdk; Vw;gLk;. 
  (6)tof;nfhopT: Gjpa fz;Lgpbg;Gfs; fhuzkhf 
gioa nrhj;JfSf;F kjpg;gpoe;J Nja;khdk; Vw;gLk;. 
  (7) fhyeph;zak;: Fj;jif gjpg;Ghpik jdpAhpik 
Nghd;wit Fwpg;gpl;l fhyj;jpw;Fg; ngwg;gLfpd;wd. 
47.nuhf;f jpl;lg;gl;bay; jd;ikfs; ed;ikfs; 
    vjpHfhyj;jpy; Vw;glf;$ba nuhf;fkhw;wk; Fwpj;j 
mwpf;ifahFk;.tzpfj;jpy; NeubahfTk; kiwkfkhfTk; 
Vw;glf;$ba xt;nthU nuhf;f eltbf;ifAk; fUjpy; 
nfhz;L jhahhpf;fg;gLk; jpl;lg; gl;baNy nuhf;fjpl;lg; 
gl;bay; MFk;. 
jd;ikfs;: 
       (1),J vjpHfhyk; Fwpj;J Kd;dNu 
jahhpf;ff;$baJ MFk;. 
       (2),J gzk; kw;Wk; myFfspd; mbg;gilapy; 
njhhptpf;ff;$baJ MFk;. 
       (3),J jpl;l ,yf;if mila top 
ed;ikfs;: 
       (1)NghJkhd nuhf;f ,Ug;ig Ngz 
cjTfpwJ. 

       (2),J Nkyhz;ikf;F gadspf;Fk; tifapy; 
nra;jpfis mspf;fpwJ. 
       (3)epjpj; Njitia G+Hj;jp nra;Ak;jpl;lk; jPl;l 
       (4)nuhf;f ,Ug;ig fl;lgLj;j cjTfpwJ. 
48. 
epiy Kjy; Kiw khWgLk; Kjy; Kiw 
1.Kjy; njhif vg;NghJk; 
epiyahf ,Uf;Fk; 
2.Kjy; fzf;F elg;G 
fzf;F vd ,U 
fzf;Ffs; cz;L 
3.vy;yhrhpfl;Ljy;fSk; 
elg;G fzf;Ffspy; 
gjpag;gLk; 
4.elg;G fzf;f gw;W 
,Ug;igAk; tutpUg;igAk; 
fhl;Lk; 

1. Kjy; njhif 
Mz;lf;fhz;L khWgLk; 
2.Kjy; fzf;F kl;LNk 
cz;L. 
 
3. vy;yhrhpfl;Ljy;fSk; 
Kjy; fzf;Ffspy; 
gjpag;gLk; 
4.Kjy; fzf;F vg;NghJk; 
tutpUg;igNa fhl;Lk; 
 

49.gw;W       ,ae;jpuf; fzf;F              tuT 
1-4-2010          & 
tq;fp f/F      500000 
 
 
 
               500000 
1-4-2011 
,Ug;G fP/nfh     450000 
  
               450000 
1-4-2012 
,Ug;G fP/nfh     400000 
,yhg el;l f/F   30000  
               430000 

31-3-2011           & 
Nja;khdf; f/F   50000 
500000x    10 
       100 
,Ug;G fP/,      450000 
               500000 
31-3-2012 
Nja;khdf; f/F    50000 
,Ug;G fP/,      400000 
               450000 
31-3-2013 
Nja;khd f/F    50000 
tq;fp f/F      380000 
              430000 

            Nja;khd fzf;F 
31-3-2011 
,ae;jpuf; f/F     50000 
                50000 
31-3-2012 
,ae;jpuf; f/F     50000 
                50000 
31-3-2013 
,ae;jpuf; f/F     50000 
                50000 

31-3-2011 
,yhgel;l f/F   50000 
               50000 
 31-3-2012 
,yhgel;l f/F   50000 
               50000 
31-3-2013  
,yhgel;l f/F   50000 
               50000 

50.1)nkhj;j yhg tpfpjk; = nkhj;j yhgk; x 100 
                       tpw;gid 
                     = 320000 x 100 
                       800000 
                     = 40% 
2)epfu yhg tpfpjk;      = epfu yhgk; x 100 
                       tpw;gid 
                      = 160000 x 100 
                        800000 
                      = 40% 
3),af;f yhg tpfpjk;     = ,af;f yhgk; x 100 
                       tpw;gid 
  epfu yhgk;+,ae;jpuk; tpw;wjhy; el;lk;-ngw;w tl;b  
 = ------------------------------------------------------------------------------------x 100 
                 tpw;gid 
,af;fyhgk;  = 160000+30000-10000 
            = 180000 x 100    =22.5% 
              800000  
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51.,yhg el;l gfph;T fzf;F 
                  
Kjy; fzf;F  
         fdfh  nry;tp 
vLg;G     60000   40000 
vLg;GkPJtl;b1800    1200 
tl;b 
,Ug;G fP/,320000  200000 
 
 
         -------------------------- 
         381800  241200 
        -----------------------------     

         fdfh  nry;tp 
,Ug;GfP/nfh300000 200000 
Kjy;kPJtl;b15000  10000 
Cjpak;    20000   ------- 
,yhgel;l  
f/F      46800  31200 
 
        ----------------------------- 
        381800  241200 
        ----------------------------- 
,Ug;GfP/nfh 320000  200000 

52. 
         tptuk;                gw;W     tuT 
gq;FKjy; f/Fg(5000 x 10) 
   gq;FKjy;miog;GepYit f/F 
   gq;F,Wjpmiog;GepYit f/F 
   gq;F xWg;gpiog;G f/F 

50000  
15000 
10000 
25000 

tq;fp f/F g 
 (2000 x 9) 
gq;FxWg;gpiog;G f/F 
  (2000 x 1) 
    gq;FKjy; f/F 

18000 
2000 

 
 
 
 
20000 

gq;F xWg;gpiog;G f/F g 
(20000 x 5)-(2000 x 1) 
    gq;F Kjypdfhg;G 

8000  
 
8000 

g           gq;FxWg;gpiog;G f/F            t 

gq;FKjy;         2000 
gq;FKjypdnryT   8000 
,Ug;G fP/,       15000 
                25000 

gq;F Kjy; f/F   25000 
 
   
                25000 
,Ug;G fP/nfh     15000 

              gq;F Kjypd fhg;G 
,Ug;G fP/,     8000 
              8000 

gq;FxWg;gpog;G    8000 
               8000 

 
53.m)g  nkhj;j fldhspfs; f/F              t 
fld;tpw;gid    700000 
              
 
             ---------------- 
              700000 
             ---------------- 

ngw;w nuhf;fk;   434000 
mspj;jjs;Sgb    3500 
,Ug;G fP/,     262500 
             --------------- 
              700000 
            ------------------- 

g         nkhj;j fldPe;NjhH fzf;F          t 
mspj;j nuhf;fk;  612500 
,Ug;G fP/,     175000 
              787500 

 
fld; nfhs;Kjy;  787500 
               787500 

g           tpahghu fzf;F               t 
fld;nfhs;Kjy;787500 
nuhf;fnfhs;Kjy;140000 
               927500 
$yp             15750 
 nkhj;jyhgk;     229250 
               1172500 

fld; tpw;gid700000 
(-)nuhf;ftpw;gid350000 
               105000 
 
,Wjpruf;fpUg;G    122500 
              1172500 

 
 
 
 
 
 
 
 

g           ,yhgel;l fzf;F               t 
mspj;jjs;Sgb     3500 
rk;gsk;           17500 
Nja;khdk;         4200 
tpahghunryT      14000 
tpsk;guk;         17500 
epfuyhgk;          175550 
               229250  
  

nkhj;jyhgk ;fP/nfh 229250 
 
 
 
 
              
               229250 

nghWg;Gfs;    ,Ug;Gepiyf;Fwpg;G     nrhj;Jfs; 
Kjy; 262500 
(-)vLg;G 75600 
      186900 
(+)epfuyhgk;172550 
               359450 
tq;fpfld;        52500 
fldPe;NjhH       175000 
 
               586950 

miwfyd;        42000; 
(-)Nja;khdk;       4200     
 
                37800 
,Wjpruf;fpUg;G    122500 
fldhspfs;       262500 
nuhf;fk;         164150 
 
               586950 

53.M)g        kWkjpg;gPl;L f/F              t 
ruf;fpUg;G       11500 
miwfyd;       12500 
nghwpj;njhFjp    3750 
fl;blk;          20000 
Iaf;fld;xJf;F    2250 
               50000 

uhfpdp f/F       18750 
gj;kpdp f/F       12500 
yypjh f/F       18750 
 
                50000 

           Kjy;fzf;Ffs; 
      uhfpdp  gj;kpdp yypjh       uhfpdp  gj;kpdp yypjh 
kWkjpg;gPL18750   12500  18750 
nuhf;ff/F204500    -     - 
,Ug;G fP/,  -    128000 154500 
 
 
 
        223250 140500  173250      

,Ug;G fP/nfh 
        200000 125000  150000 
yhgel;l f/F  
        8250   5500    8250 
fhg;Gepjp  3000   2000    3000 
ew;ngah  12000  8000    12000 
       223250  140500  173250      

                  ,Ug;G fP/nfh  128000    154500 
nghWg;Gfs;    ,Ug;Gepiyf;Fwpg;G     nrhj;Jfs; 
Kjy;         
gj;kpdp          128000       
yypjh           154500 
nr.kh.rPl;L        32000 
fldPe;NjhH       62500 
nfhLglhnryT     500 
 
 
 
               377500 

tq;fpnuhf;fk;      8750 
(213250-204500) 
fldhspfs;       86750 
(89000-2250) 
ruf;fpug;G        100000 
miwfyd;         5000 
nghwpj;njhFjp     45000 
fl;blk;          100000 
ew;ngah;          32000 
               377500 

54.g        tpahghu fzf;F                 t 
njhlf;fruf;F      74000 
nfhs;Kjy;        50000 
$yp 8000 
(-)nfhLgl 
Ntz;baJ3000     11000 
nkhj;j yhgk; fP/, 179000 
               314000 

tpw;gid         264000 
,Wjpruf;fpUg;G     50000 
 
 
 
 
               314000 

g           ,yhgel;l fzf;F               t 
fopT             8000 
nghJr;nryTfs;    22000 
fhg;gPL16000 
(-)Kd;$l;b  
nrYj;jpaJ5000    11000 
Nja;khdk;         30000 
Kjy;kPJtl;b      24000 
epfuyhgk; fP/,    84000 
 
               179000 

nkhj;jyhgk; fP/nfh179000 
 
 
 
 
 
 
 
 
               179000 
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nghWg;Gfs;    ,Ug;Gepiyf;Fwpg;G     nrhj;Jfs; 
Kjy;400000 
(-)vLg;G10000 
     390000 
(+)epfuyhgk;84000 
               474000 
nfhLglh$yp       3000 
Kjy;kPJtl;b      24000 
fld;             60000 
fldPe;NjhH        76000 
 
 
               637000 

nuhf;fk;         32000 
tq;fp           80000 
fl;blk;300000 
Nja;khdk;30000   270000 
miwfyd;       63000 
ng.kh.rP         50000 
fldhspfs;      87000 
,Wjpruf;F       50000 
Gad;jPuhf;fhg;gPL   5000 
 
 
               637000 

 
55.elg;Gtpfpjk; = elg;Gr; nrhj;Jfs;  
              elg;GnghWg;Gfs; 
elg;Gr; nrhj;Jfs; = ruf;F+fldhspfs; +nuhf;fk; +   
                tq;fp+ FWfpa fhyKjyPL 
              =40000+70000+20000+10000+20000 
                                   =&160000 
elg;G nghWg;Gfs; = fldPe;NjhH+nr.kh.rP+t.Nk.g. 
               =40000+10000+30000 
                                     =16000  =2:1 
                                       80000 
2.ePh;ik tpfpjk; = ePh;ikr; nrhj;J 
              elg;GnghWg;Gfs; 
ePHikr;nrhj;J = elg;Gnrhj;Jfs;-ruf;fpug;G-Kd;$l;b   
             nrYj;jpa nryT  
            = 160000-40000 
                               =120000 
                              =120000   =1.5:1 
                                  80000         
3.Jy;ypaePh;iktpfpjk; 
   = ifnuhf;fk+ ; tq;fpnuhf;fk; + FWfpafhyKjyPL 
    elg;G nghWg;G - tq;fpNky;tiugw;W 
       =      20000 +10000+ 20000 
      80000-30000 
    = 50000 
      50000 
                    = 1:1 
4.chpikahsHtpfpjk;: 
        gq;fjhuH epjp      
     nkhj;jGydhFk;nrhj;J 
gq;FjhuHepjp+ rjhuzgq;FKjy; +Kd;dhpik 
+gq;FKjy;fhg;gfs; 
=200000+ 50000+ 50000  
=300000 
GydFk; nrhj;Jfs; 400000 
                            =300000 
            400000 
                          =   0.75:1 
56.nuhf;fjpl;lg;gl;bay; 
tptuk; [{d; & [Piy & Mf];l;

& 

nuhf;f,Ug;G 
(+)jpl;lkplg;gl;lnuhf;fg;
ngWjy;fs; 
ngw;wnuhf;fk; 
tpw;f cs;s,ae;jpuk; 

250000 
 
 
275000 
 - 

32000 
 
 
320000 
60000 

557000 
 
 
380000 
 - 
 

 52500 700000 937000 

(-) jpl;kplg;gl;lnuhf;f      
nrYj;Jjy;fs; 
mspj;jnjhif 
$ypje;jJ 

 
 
180000 
25000 

 
 
115000 
28000 

 
 
160000 
22000 

 205000 143000 182000 
,WjpapUg;G 320000 557000 755000 
57. 
tptuk; Ng.g.v gw;W tuT 
tq;fp f/F g 
    gq;Ftpz;zg;g f/F 
(60000 x 2) 

 120000  
120000 

gq;Ftpz;zg;g f/Fg 
   gq;FKjy;  f/F 
 

 120000  
120000 

gq;FxJf;fPL f/F g 
     gq;FKjy;z f/F 
(60000 x 3) 
     gq;FKidk f/F 
(60000 x 2) 

 300000  
180000 
 
120000 

tq;fp f/F g 
   gq;FxJf;fPL f/F 

 300000  
300000 

gq;FKjy; miog;G f/Fg 
     gq;F Kjy; f/F 

 180000  
180000 
 

tq;fp f/F g 
    gq;FKjy;miog;G f/F 

 180000  
180000 

gq;F,Wjpmiog;g f/F g 
    gq;F Kjy; f/F 
(60000 x 2) 

 120000  
120000 

tq;fp f/F g 
    gq;F,Wjpmiog;g f/F 

 120000 120000 

                 tq;fp f/F 
gq;Ftpz;zg;g f/F    120000 
gq;FxJf;fPL f/F     300000 
gq;FKjy; miog;G f/F180000 
gq;F,Wjpmiog;g f/F 120000 
                  ------------------ 
                   720000 
                  ------------------- 
,Ug;GfP/nfh         720000 

,Ug;GfP/, 720000 
 
 
 
       ----------------- 
        720000 
       ----------------- 

               gq;F Kjy; fzf;F 
,Ug;GfP/nfh  720000 
 
 
 
       ----------------- 
        720000 
       ----------------- 

gq;Ftpz;zg;g f/F    120000 
gq;FxJf;fPL f/F     300000 
gq;FKjy; miog;G f/F180000 
gq;F,Wjpmiog;g f/F 120000 
                  ------------- 
                   720000 
                  ------------- 
,Ug;GfP/nfh         720000 

 
 
           gq;F Kidk fzf;F 
,Ug;GfP/nfh    120000 
              120000 

gq;FxJf;fPL f/F  120000 
                120000 
,Ug;GfP/nfh      120000 

nghWg;Gfs;    ,Ug;Gepiyf;Fwpg;G     nrhj;Jfs; 
nrYj;jg;gl;lgq;FKjy;600000 
gq;FKidk f/F    120000 
 
 
                  720000 

tq;fp        720000 
 
 
 
             720000 

 


